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There are several methods of finding the Sett of warp
(nunber of ends per inch)., but they all involve some sort of
mathematical operations. The only exception is a sliding rule
or a rotating scale which gives the answer automatically.

Ve have produced such a scale, It censists of two con-
centric disks. The smaller, central disk has nares of 20 typi-
cal weaves., The larger ocutside disk shows the number of yards
per pound of the yarn to be used from
100 to 90,000 yds/1b. 'Len the weave
and the count of yarn are set opponsite
each cther, the sett of warp shouws
in a small opening inthe central disk.
For those, who do not rerember the WNo,
of yds/1lb, there is zt the back of the
scale - a ccnversion table, which con-
tains all sizes of yarns in commoxa use.

T™wo types of this s:ale are available. One is made cf
cardkoard, and assembled. The other is printed on a sheet of
heavy bond, but neither cut out or assembled. The printed
sheet should be pasted on a wedium heavy cardboard, thern the
tnree disks cut out. The twn large discs are then glued back
to back. 1in the smaller disk a rectangular hole is made with
a razcr blade. It 1s unarked in black at the point of the ar-
row "Sett of Varp". Finally the two disks are Joined exactly
in centre with a thumb-tack, a small rivet, or a very short
1/8" bolt ani nut.

The Sett given is frowm 5 tc 158 per inch. Higher or
loewer setts are impractical with normal handweaving eguipment.
When finding the sett with extremely fine, or extremely heavy
yarans, we mnmay notice that the answer in the indicator is
either absurdly low, or high. Tiis means that we went bdeyond
the limits ef the scale, an¢ that the sciection of weave, and
yarn is wrong. Thus 90,000 yds/lb yarn cannot e woven in 2:2
twill, waffle, damasx e¢tc., witn normal eguipment. Also 100
vds/1b cannot be woven even in tabby.

The conversion table at the back of the scale -~can be
extendcd to finer and coarser yarns. To find a lower numbev
we leoox for & nuwber 1C times higher, and then divide the o,
of yds/lb by 1C. To find a higher nuaber we look for a nunmber
10 ti.mes lower, and multiply tac No. of yds/1lh by 10. Bera:
No.l linen i3 the same as No.1l0 or 3000 yis/1b dAivided by 10,
which gives 300 yds/1lb. 1To 100 cotton is the same as No.1l0 or
(approxinrately frow the tabls) 8,500 multiplied by 10, - which
gives €5,000 (really 84,000)., But it is hardly ever necessary
to go beyond numbers included in the table.
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1 indicator w.instructions - ¢ 1.75 postpaid; "Do-it yourself"
shect % instructions - § 0.85; 10 shcets - ¢ 5.50. write to:
Z -HANDLDICRAFTS FLLFORD P.Q. CANADA
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